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Evaluate
1. cscSm/d =-2
6. sin225° —\}'_:i
2. tan0 = 2 T 0 -l =3
] 7. tanl1m/6 N _,31
3. sin270° = ‘I g tangooﬁlrund{f
4. cosl35° ‘%E 9. sinn/4 \/_
5. sec TW/6 _ a5 - -2 10. cot240° v_:_\fi
R 303

What is the input and output? What does each variable represent?
a“'lo

¥e= sinf

How do you find in inverse?

0 = siny

Definition of Inverse Sine Function
The inverse sine function is defined by

y=arcsinx ifandonlyif siny=x

where -1 <x <1 and -n/2 <y <m/2.

The domain of y = sinx is [-1, 1], and the range is [-7/2, w/2].

y =arcsinx or y=sin'x
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What would the inverse look like?
y =arcsinx or y=sin'x
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Domain: -1<x<1 -
Range: -n/2 <y <m/2, *%
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How does this work on the calculator?

sinfl E cos1 F tanl G

| sin J§ cos_
check the mode
y = sin30° y =sin'(1/2) or y = arcsin(1/2)
y = sin(1/6) ,

(g
LA W]
o a"2

Find the exact value:

a) sin(1/2) =25 ’%

b) sin'(-1/3/2) =-4,0 %

s’ ("57>
¢) sin'(/2) = undefined

Rati0

Sided
d) sin'(sin(/9)) = T
e -3
e) sin”'(sin(57/6)) =T

b
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Inverse Cosine
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cos(x)

what are the restrictions to make this one-to-one

y=cos”!(x)

\//-:," / v = coslx) ,n 5
0 5
J

(0. Iy ilﬂj

cos™(cos(-1.1))

Gnﬂ le

CoS Co0)= 1
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What does the inverse look like?
Do we need to restrict to make one-to-one?

¥ =tan(x)
Ta
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, T 0
=tan"'( 271
%

0.1 Pﬂ}

Find:

tan'l\/g =6 - ] 360° 27 [(1, 0)
0= 60 o 3 ; °

an/(-12\5)

arc tan (-55)

Jar'((55)= 6

O=-~1.34
196

(4.-4)

Cik

)
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Find the exact value without a calculator.

0. 1) (1&}

sin(tan™1)
Sin () = ‘g—
cos(cosTrr/4)
cos™ ( '§> =Ty
Ly
10

]
Sm@‘ﬁ‘/ﬂ - _g?

Find an algebraic expression equivalent to the
given expression.

l nes
cot(arccos x) /I b=y %
(2]

Co’r(Cos"(xl\\ X _ .
N 51 e
cos(tan” x) g{*\ . .
(05(8)~ _x[’\ﬂ =
Rryi=e
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